C 78KOR (0 2010- 2011

RL. 00 2010/5/ 18
RL. 50 2011/ 2/ 27
Re. 00 2011/3/29

31 C

311 main

3.12

3.1.3

3.14

3.2

321 LBD

3.2.2

3.3

3.3.1

3.3.2 KEY. c
3.3.3 FEP.c
3.4 LD

341 LD

3.4.2

3.4.3

3.4.4

3.4.5

3.4.6

3.47 LD LD c
3.4.8 FONT. ¢
3.5

3.51

3.5.2

3.5.3

3.5.4 BN MR c

56



3.6

3.6.1

3.6.2

3.6.3

3.6.4

3.6.5

3.7 LBD P
3.7.1

3.7.2 PWA
3.7.3 LBD

3.8 AD
3.8.1

3.8.2 AD
3.8.3

3.9 RIC
3.9.1

3.9.2 RIC
3.9.3

3.9.4 RIC

3.10.1
3.10. 2
3.10.3 UART
3.10.4 UART

3.11.1
3.11.2
3.11.3
3.11. 4

BEEP. ¢

PW/ c

ADc

RIC c

UART. ¢
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3.1
3.1.1 main
nai n 31
31
C ——— > . 3
BTIMER_INTF%EI%E

B e s S (0
A T | THELICE
Bt A D

[EETEH]

“10ms (0. 01§ Z &
(CEFEL, T—HF

i T int gets (.. )
rrainBE EO T L .

getcharl. . J;

}.
T DR

_______________________________________________________________________

}

o EE B . T4, LCDEZ-114 1
_______________ ;_“"_““““ hawinitR8 2 [ EETE H] R T .
| BT I —F | - BB ED B Il ;
e | = (LT O y |
V(TS Fvas - i HIHEARE BTNV [EERE] |
L T2R—F Ty L —F )= ! *LCD® #HA E
b TEED S — Ty L —F *10ms &1 LIE( +—» | CD, FONT, KEY, !
VOERERTAIIF v IEAFR) BTIMER_INTREZ UART, BEEP, IR, !
| | FRENEF O] AD, RTC i
| FASUEC HL& £ U0 — I
: h)bgﬁ@tm@fﬁfﬂﬁ( i EEES rS) R —E
I 'I'iﬁ’ﬁﬁ | (CSBOMIBTIAE-TLBE |
prere— N ) ST E TN WS T (25542 4] i
: 045 4 (hawinitBa 20 : : . :
: T | : | imt printfl. .} { int putchar(..) |1
| DT : . /\:"X . T int puts(. . ) i
| ¢ printfl. . ) e : putchar(. . )3 int getchar(. .) :
! P : o int getc (. .) :
: RREVELZAD HIRA L : 1 FILE *fopen(. . ) ||
: v gets (L. )| time_t time (..} |

]
1
I
|
]
1
I
|
]
1
I
|
i | :
! ~return;
1
I
|
]
1
I
|
]




(1)

78KOR PCC

(2)
78KOR

3.14

(3)

(4)

mai n

78KOR

78KOR

hawi ni t

haw ni t

QC78KOR

haw ni t

hawi ni t

AMH SMHz
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mai n



20M
LD

(5)
BT MER | NT
nai n
BT MER | NT
BT MER | NT

LD

(6) mai n

(7)

put char

hawi ni t
(03
0.01 nai n
nai n
LCD
printf LD
printf
LCD
nai n
hdw ni t nai n
get char
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312

78KOR 20
ROM RAM

OxFH00

SR

QC78KOR
#pragma SR

78KOR

ROM RAM

=1, 048, 576

64K

78KOR

3 2
TELA
0x00000~

0x01000~

0x10000~

OxF 0000~

0xF 1000~

OxFF 300~
(3 RAMT
A= TE)

OxFFE20~

OxFFEB4~
OxFFEEQO~

OxFFFO0~
OXFFFFF

_ farfd#, _ far TR

SFRefE

S 5 F 3
E5—7Elg

__near constEFH B2 2 UE
¥

r

LR &iiss

SFReEEL
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3.13
78KOR 16 16
QGC78KOR 16 __near 20
__far __near _ far
31
__hear 0 OxFHF
__hear OxFO000 16
__far / 20
__near
__far __hear
__far
__near _ far
const ROM
__hear const Oxffff RM
Oxf 1000
ROoM RAM
RAM
_sSreg
31
__hear Oxffff Oxf 0000 2
_far 4
64K -
64K
const RM
sreg,
__sreg 147




314

LM
(1)
04
RM
ID
(2)
1
00
7 1

7E 4

85




(3) LM

78KOR

78KOR! Kx3- L IMEz 8ME 20ME
1M

78KOR LM

2 3 4
78KOR Kx3-L 64
FB 8ME 20MHz
LM aF
D 1Mt 3 4
LM aF

78KOR Kx3
FF LM aF




3.2
321 LBD

LED 31
/* 3 1LBD */

#i ncl ude "PCRT. h"
#i ncl ude <stdi o. h>
#i ncl ude <tine. h>
#define ALAK() ¥

( (int) clock() / (QLOKS PER SEC/

int main (void) {
char |ine[33];

int i, g=25 r =50

int gold, rold =gold = QQX();

vhile (1) {

if (gets(line) '= NLL) {
rold = gold = AQXK);
sscanf (line, "%l %l",

}
i = AAXK();

&, &);

if (i -god>=g) {

LEDL /A=
gold +=
}

1
g

if (i-rod>=r) {

LED "=
rold +=
}
if (!KEYINp)
}

return O;

1
r;

br eak;

/* 3.2

/* 3.2

100) )

/* 3.2

/* 3.2

/* 3.2

/* 3.2
/* 3.2

/* 3.2
/* 3.2

/* 3.2

*/

*/

*/

*/

*/

*/
*/

*/
*/

*/

65




PCRT. h

#pragma SR

LEO, LEOL LED
KEYl Nb

tine. h
tine. h
C
1
31
cl ock

66

Po6. 1
PCRT. h 3 3
SR
PCRT. h
3
0
0
cl ock
cl ock
Q.QXKS PR &C
249 0
0.01
0.01 i nt aax
gold LEI ,rold LHDO
0.01 g LEX ,r LHD

LEDL  0.25 LHO 0.5



gold rold
gr
KEYING O br eak
BSNM / *
0
3.22
(1
31
78KOR
P\VK. y
1
X,y
X 3 2
y 3
Px.y
0
PK. y
1
1

0-1 1-0

vihi | (1)

67

KEYQJT1 KEYQJIS
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P M.y POM X. y
3 2 (a 78KOR Kx3- L(64
PP | %Fs 44 45 52 64 PP | w52 44 45 52 64
U bt pin pin pin pin U Pl pin pin pin pin
bz hE hE bz hE W bz bz
L ow [ PO0 52 62 Uy W | Ps0 23 14 2 34
L[ PO a1 61 Ul W | Pal 22 13 28 33
Ly [ P10 27 18 33 42 U om | Ps2 21 12 27 32
pm | PN 26 17 32 41 Ul W[ Ps3 31
Lpm [ P12 25 16 H 40 Uy m | F7O 20 1 26 30
Ly [ P13 24 15 30 349 U m | P71 19 10 25 29
Lpm[ P14 38 Uy W[ F72 18 9 24 28
LM [ P15 a7 Uy m | F73 17 g 23 27
Ul P16 36 Ul W[ P74 16 7 22 26
M| PI7 35 Ul M| F7s 15 G 21 25
M | P20 43 35 a0 G0 Ul m | Ffe 20 24
M| P21 42 34 49 54 Uy m | P77 19 23
M| P22 41 33 45 54 M| PE0 31 22 7 46
k| P23 40 32 47 57 M| PB1 30 21 36 45
M| P24 349 )| 46 56 M| P32 29 20 35 44
kM| P25 38 Jo 45 55 M| P83 28 19 34 43
k| P26 ar 28 44 54 U W[ P120 44 37 2 1
M| P27 35 28 43 53 1] 1 F121 g 45 10 "
LM P30 12 3 16 19 0 1 p122 7 44 9 10
pm | PR3 13 4 17 20 1 1 P123 5 42 7 g
Ly m [ P32 14 5 18 21 1] 1 F124 4 41 ] 7
M| P33 22 oo F140 36 1 64
L[ P40 2 38 4 5 W[ P14 63
M| P4 1 38 3 4 M| P150 35 27 42 52
Lpm [ P42 3 M| P131 34 26 41 a1
LM P43 2 M| P152 25 40 a0
k| PBO{OD] 1 14 17 M| P153 43
M | PB1{OD) 2 19 18 @ 'H
PL U0 U1
PM M1
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3 2 (3

3 2 (h) 78KOR KE3 K&
FIFP | Bs 64 | 80 | 100 | 100 PP | 5F5 B4 | B0 ] 100 | 100
U m pin pin | pin pin U i i i i
i || |05 | 06S i |8 |05 | oBs
U | m | Poo 62 | 74 | 97 | 74 U M| Pes 26 | 29 |6
THIERETD B | 73 | 95 | 73 R 27 a0 |7
U [ | Poz B0 |72 | 95 | 72 4| M | PEE e e S
U [ ™ | Fo3 FENERE 4| M| PE7 BN NN
U [ ™| Pos 58 |70 |93 |70 LU I T e R (e
U [ ™ | Fos 3 |39 |4z | 19 JM]PA e e S T
U [ | Pos 30 |38 | ¢ |18 LU I A e T
THEREE 46 | 54 | B9 | 46 UjM| P73 B |3 |3 |14
THIEREX 45 | 53 | B8 | 45 U M| P 4 | % | W |14
THEREE a4 | 52 | 67 | 4a L A | % | 3% |12
TREEEE THE R U M| PiE EEIERERED
TRERET T e R G UM | P 22 | a0 | 33 | 10
U m]|Pis 41 | 49 | B4 | 41 Ujm|Fad 4 ] =
TRIEREE 40 | 48 | B3 | 40 UM | Pl 45 [ 22
TRIEREE 33 | 47 | 62 | 39 U|M] P&z R
M | P20 565 | B3 | 90 | 67 ML 4T [
M | P21 55 | &7 | 89 | 66 U|M]|Pe4 | | 25
M | P22 54 | 65 | 88 | 65 i L i |49 [
M | P23 5z | 65 | &7 | 64 U|M|Pes 0|
M | P24 52 | 64 | 88 | 63 U | M| Pa7 | |5 |2
M | P25 51 | 63 | 85 | B2 U]M]|Pa0 55
M | P26 50 | 62 | 84 | B M | P110 |57 | T |48
M| P27 49 | 61 | 83 | &0 M| P Sl B
U [ | P30 32 |40 |52 | 29 UM ]P0 L L ST
IRERRE: e mE BE a |1 | P12 11 |15 | 18 | 95
IREERE : . T a |1 | P2z 10 | 14 | 17 | 94
IRBCRRE g = T B a |1 | P1z3 8 12 | 15 | a2
IREERE - - TN o |1 | Piza 7 T ErED
T s S 5 = a |0 | P30 57 | B9 | #1 | 68
U [ | Paa —_— |5 [8 |8 S L |19 |88
IRERRE g = = O | m | P1a0 B4 | 80 | 3 a0
IREERE T3 . = O M| P14t B3 | 79 | 2 78
IREaRE s - - O m | Plaz 78 | 1 78
TRIEREES EIENEEE U | M| P43 |77 | 100 [ 77
TR 34 | 42 | 55 | 32 U M| P44 L
O [ M| P52 a5 | 43 | 56 | 33 U M| P45 175 |8 [7s
O | M| Ps3 36 | 44 | 57 | 34 M | P10 B2 | 99
O | M| Psa a7 | 45 | 58 | 35 M| P11 | |8 |58
O | M| Pss 33 | 48 | 59 | 36 M| P52 B0 | a7
U | M | P —_— E0 | a7 Pl | |79 |38
IR o M | 154 78 | 55
M | PEO(OD) 17 | 21 | 24 | 1 M | P155 | T | 54
M | PE1(OD) 18 | 22 | 25 | 2 M | P156 L
M | PEZOD) 19 | 23 | 28 | 3 e NEE — |75 |=2
M | PE3(0D) 20 | 24 | 27 | 4
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3 3 (a) 78KOR! Kx3- L( 64
SR
LD D P2 0x00 | LCD
LCD DM =V 0x00 | LCD
LD VR P41 0 LD
LD D P8.0 0 LD
LD E Ps. 1 0 LD
LODCSL 2 | P8.2 8.3 0 LD
LCD RESET P15.0 0 LD
KEYINL 3 P12.0 F5.1
P5. 2
KEYING 5 P12.1, P12. 2
KEYQUrL 5 |P7.0 Pr.4
KEYQUM. 5 | PW.O
PV. 4
KEYQUIUL 5 | PUZ.O 0
PV. 4
LEDD 3 5.0, PL2, 0,0,
P6.0, F5.1 01 |0 P apin
BEEP PL 1 0
UART XD P3.0 0
UART_RD P3.1
UART CTS P3.2
UART_RTS P7.5 1
IRIN PL.O
| R QUT PL 3 0
SBPOVR | UG 1
apin
AD TWP P15. 1
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3 3 (b) 78KOR KE3 KG3
SR
LD D P7 0x00 | LD
LCD M =V4 0x00 | LD
LD WR P2.2 0 LD
LD O P2.1 0 LD
LD E P2.3 0 LD
LADCSL 2 | P24 2.5 0 LD
LCD RESET P13.0 0 LD
KEINL 5 P12.0
KEYQUIL 5 | F0.6, FO.5, 0
KEYOUIM. 5 | PMD. 6, PMD. 5,
KEYOUTUL 5 | PWD. 6, PLD. 5,
LEDD 3 6.3, P6.2, 0,0,
BEEP P3. 1
UART XD PL 3
UART RO PL. 4
UART_CTS P5.0
UART RTS P2.0 1
IRIN PL. 7
| R QUT PL. 6
SUB POMER FO. 0 1
AD TWP P2.7
Sofen) P4. 2 D
D W P5. 1 D
DCS PL5 0 D
D K FO. 4 0 D @
DS FO. 3 D TTL
D O FO. 2 0 D @
A K P4. 3 AU TIL
AU S P4. 4 AU TTL
AU SO P4.5 0 AU @
AU MK P14.0 0 AU
AU SO P14. 2 1 AU @
AU SDA P14. 3 1 AU @
AU FRM P3.0 AU
oD ) AU KF3-L KG-L AU
\VID=3. 3V I/ F P43 P45 P10 12
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3 3 (¢
o) Nb. 8

SR
LA D P2 0x00 LAD
LD ™M PR 0x00 LAD
LAD WR P4. 1 0 LAD
LA DO P8.0 0 LAD
LAD E P8. 1 0 LAD
LAD Gl 2 P8.2 8.3 0 LAD
LAD RESET P15.0 0 LAD
KEYINL 3 P12.0 F5.1

Ps. 2
KEYINA 5 P3.1,P3. 2 i
KEYQJT1 5 P7.0 P7.2, 0

P5.0, P7.5
KEYQAJ)IM 5 | PW.0 7.2, 0

P\G. O,

PW¥. 5
KEYAJluL 5 | PJ.0 7.2, 0

Pb. 0,

PW¥. 5
LEO 1 P3.0, P12, 0,0,

0

BEEP Pl1.1 0
UART XD P7.3 0
UART_RD P7. 4
UART_CTS ) (i)
UART_RTS DUMWY (0)
IRIN PL O
IR QJT PL 3 0
AD TWP P15. 1




(2)
QC78KOR 1 SR

PL. 2
El

vol ati|l e unsi gned char

vol atile C
C

PL2 =1,
vhile (PL 2);
C

(3)

78KOR

(4)

_sreg
78KOR

()

73

4.2.4

volatile



(5)

P\, y
Px.y
PL2 =1;
PML.2 = 0;
PL.5=1;
PML.5 = 0;
PL2 =1;
PL.5=1;
PML.2 = 0;
PML.5 = 0;
P1.5 P1
(6) SR
1 SR
RTCs (03 SR
PL.O PL 3 Pl 4
staticint i =15 /* PLO PL3 al’ r
MV A PL P1
R A xR
MV PL, A P1

74
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0(Q;

B(;

P1
C
H-FOOH FHAF20H
HA-FOOH FFFH
1
SR 2nd SR
TAU
setl T®. 1 N

setl 11B8H 1

16
0,8

T

#pragna O #pragna H

T

SR
AND (R XR 1
0 1
1
SR
SAU
1
SR
AU O

75



3.3

331

BT MR h

0.01

get key
get key

prev_code
prev_det ect

count

0.01

0.01

0.01

BTl MR key_di sabl e

76

01
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/ *
#
#
#

#define ALAXK() ( (int) clock()

#

3 2 */
ncl ude "PCRT. h"
ncl ude <stdio. h>
ncl ude <tine. h>

ncl ude " BTl MR h"

int getkey(void);

int main (void) {

}

int c, told,
BTl MR key_di sabl e() ;

vhile (1) {

while (told = Q.GX());

told = AQXK();

if ((c =getkey()) '=E¥F) printf("%l", c);
}
return 0;

int getkey(void) {

static char prev_code, prev_detect, count;
char i =0;

[*** read key port ***/
if (TKEYINLD) i += 1;
if ('TKEYIN?) i += 2
if ('TKEYIN3) i += 4;
if ('TKEYING) i += §;
if (KEYIND) i += 16;

[*** elimnate chattering ***/
#def i ne NCETECTED 2
if (i = prev_code ;| i !=prev_detect) {
prev detect =i;
count = O;
return ECGF
}
else if (++count >= nCETECTED) {
prev_code =i;
count = O;
return i;

}
return BEGF

/ (QLOKS PER SEC/ 100) )

/* 3.2.3

/* 3.2.3

/* 3.2.3

/* 3.2.3

/* 3.2.3

/* 3.2.3

/* 3.2.3

/* 3.2.3

*/

*/

*/

*/

*/

*/

*/

*/




i prev_code
prev_det ect 1
prev_det ect
ECF
NCETECTED
prev_code count
3.3.2 KEY.c
KEY_get
KEY get 0.01
3 2 getkey 5x5
3 2 KEY scan
KEY_scan KEYQJT1 5 0
5 1
(1) KEYQJT1 5 0 KEYINL 5
KEYINL 5 0
0
(2 KEYQJT1 5
KEYINL 5 (1)
(3)KEYAJIn n (1)

5n-1) +*“ (1)

25

S S5

25

count

78

KEY NL

KEYQJTn

F=P. c



3.3.3

KEY_get

Ent er

Ent er

stdin

stdin

gets scanf
get char
getc

FEP. c

FE. c

—

AP.c
25
JIS
st dout
get char
1 4 76

stdin

getchar gets scanf
Enter

QC78KOR

getc

put ¢

st decho

NUM ALPA ALPB, SYNB

bsear ch

25

79

A |

stdin
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34 LD

128x64

)

5

(2010

SE2864A9 B- (B- R01

LD

PQRT. h

341 L@

LCD RESET

1y s

(hwi ni t)

1y s

LAD RESET = 1,

N BN P >
A m
g S|
g
<N I RS P
y\ A
2 2
3 S
< «
G
- B
y\ i
2
g S
<
). T AT T T N T T ><]
1 114
—

LD
LD E

3.4.2

LD RW
LD Csl
LD C2
LD O
LD D



LAD E = 0; LD c 0
LAD RWV= 0; LD c 0
LAD CaL = 1; SGL2864A LD 2
LD =1; 1
1
LD 2

L0 =0 1; 0

450ns 140ns
LADE =1,
LAD D= ;

450ns
LAD E = 0;

10ns
LAD CSL = 0; 0
LD CX2 =0; 0
LAbO =0 1

10ns
LAD D= ;

LD c tine.c wvai t_cl ock
0.5y 9] vai t_cl ock 1y s
1y s
LD
LD c
vai t _cl ock 6[ 1 s] 5 s]

0.5[u s]

LD Cs1

81



3.4.3
LD c
LAD D LD DM = Oxff;
1
3.4.4
1
Ox3f
0x3e
0xcO + n 0xcO
1
Oxb8 + n
8 n=0 7
0 7
0x40 + n
1 n=0 63
LD
LD &R
0
1
3.4.5
8 1
LSB = 0
FONT. c LD c

FONT. c

63

+1

82

LCD Csl



3.4.6

/*

3 & */

# ncl ude "PCRT. h"
# ncl ude <stdio. h>
# ncl ude <tine. h>
# ncl ude " BTl MR h"
# ncl ude "LCD h"

int main(void) {

int i, j;
BTl MER key_di sabl () ;
BTl MER | cd _di sabl () ;

LD Csl = 1,

LD Cx = 1;

for (i =0; i <8 i++) {
LA DO = 0;

LAD D = (unsi gned char) (OxB3 + i);

LA wite pul se();
LAD D = 0x40;
LA wite pul se();

LD = 1;
for (j =0; ) <32 j+) {
LAD D = 0x55;
LA wite pul se();
LCD D = OxAA
LA wite pul se();
}
}
LD CSL = O;
LAD CX = O;
return O;

/*

/*

/*

/*

/*

/*

*/

*/

*/

/*

/*

/*

*/

*/

*/

*/
*/

*/

83




LA wite pul se

LD
1
0
3.4.7 LD LD c
LD LAD di spl ay
BS
8 16
3.33 st dout
st decho
¥n ¥t
4 BS ¥b 1
Enter
FEP. c 2 BS stdecho
ox7f
get _font_ascii FONT. ¢
get _font_kanj i FONT. ¢
7 7 1



85

3.4.8 FONT. ¢
__far const char font_ascii[95][ 14]
0x20 Ox7E 95 get _font_ascii
font_ascii| - 0x20] __far
char
Font _78KOR
2
const unsi gned short font_kanj i _i ndex] FONT_KANJI _NUM
__near
FONT_KANJI _NLM
__far const char font_kanji1[][ 28]
_far 1 28
get _font_kanj i 2
font_kanji _i ndex C
bsear ch
bsear ch
bsear ch( )
font_kanji_index, FONT_KANJI _NM si zeof (unsi gned short),
)

int bsearch_cnp(const void* a, const voi d* b) {

return ( *(unsigned int*)a - *(unsigned int*)b );

bsearch
=((int)bsearch - (int) font_kanji_index)/ sizeof (unsi gned short)
font_kanjil
= font_kanji1] ]
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3.5
3.5.1
78KOR TAU
TAU TALD
TAD 8
PV
2
8 3 4
TAU
TALDEN = 1; TALD
TP = PROL << 4 | PRIOO;
2
PRO1 PRI0 U
0Vl LVU2 214 3:U8 4116 51/32 15: 1/ 32768
TP = 0x40; 1/16 11
3 4 TALD
KE3-L | KE3
0 4 0.01
1 5 1ns
2 2
3 3
4, 5 0, 1 |LED PV LED
6
7 7




3.5.2

(1)

TMRONn = 0x0000 0x8000; PRO1
(2
TORON = - 1
= *
PRO1 0.01
=0.01 * (20x10° / 16) = 12500
HOVYNT. h  PU FREQUENCY
TORON
(3
TOL.n = 1;
TARON TORON
TMRON PR00 PRO1 TN
TRn O | NTTMON
TMFOn 1
TAON
TMFOn 1 1
TMFOn = 0;
| NTTMON 3.53

(4)
TTOL. n = 1,

87
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3.5.3

(1)

TMKON = 0O; [*
TMMKON = 1; [*

(2)

mai n

#pragna O
#pragna H

D();

LCD CS1=1;
LCD D = Ox55;
LCD CS1=0;
B();

| ong

0()

*/

B()

LCD

*/

88

LCD



(3)

#pragna interrupt 1 NTTMOn BTIMER INT rbl

[ NTTMOn

78KOR 4

mai n 0O rb0

2 3 rb2 rb3

__interrupt void Bl MR INI(void) {

#pragna i nt errupt

#pragma i nt er rupt

T™FON =0;, D();

QC78KOR RAM

1

rbl

static

89
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i nt
unsi gned char, char, unsigned int
char int
(4)
BQO:;
78KOR

XXXPRIX = 1, xxxPROx = 1, 3( ,

XXXPRIx = 1, xxxPROx = O; 2

XXXPRIx = 0, xxxPROx = 1; 1

XXXPRIX = 0, xxxPROx = 0; o( )

XXX | NTTMm , TMPRLmim, TMPROmM
0 B
KE3-L | KE3

INTTMOO | | NTTMD4 0.01
I NTRTC I NTRTC 0. 5s(mn)
INTTMD2 | | NTTMD2 1. 2ns( i n)
INTTMD6 | | NTTMD6 0. 6ns( M n)
| NTSRL INTSR3 | UART 0. 5ns(mn) @>9. 2kbps
| NTST1 INTST3 | UART 0.5ns (mn) @>9. 2kbps
* . DDI8 I NTSRO | NTSTO
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3.5.4 BNTMR c
BTl MER_open 0.01
BN MR | NT
C
nai n C
nai n hdwi ni t BTl MER open

BN MR I NT

B MR | NT
BN MR | NT
0.01

B MR | NT

A 4
[EnN




3.6
3.6.1
3 5A
/* 3 6A */

#i ncl ude <stdio. h>
#i ncl ude "BEP. h"
#i ncl ude "BEEP. i nc"

int main(void) {
char |ine[33];

int tenpo, ichou;

BEEP pl ay(whi stl e _pol ka, O, 85, 0);

whil e(1) {

while (gets(line) = NULL);

sscanf (line, "%%", & enpo, & chou);

if (!tenpo) break;

if (tenpo > 10 && tenpo < 250 &k

ichou > -36 & ichou < 24) {

BEEP _stop() ;
whi | e(BEEP refer());
BEEP _pl ay(whi stl e_pol ka, O, tenpo,

}
BEEP st op();

return O;

/*
/*

/*

/*
/*

*/
*/

*/

*/
*/

i chou) ;
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3 6A
( )
100 12
70 -12




BEEP. h
BEEP. i nc
BEEP pl ay
1: O\ *p;
2 int offset; p
3. int tenpo; 1
4 : int ichou; ,
Cint; 0 : (
BEEP _check
0.01 BT MR h
BEEP st op
BEEP_st op BEEP_check
BEEP refer
3.6.2
n
() TAU 3.5.1
(2
TMONn = 0x8000 0x0000; PR01
(3)
TORON = - 1
= /
PR01( 116 ) 1,000 H

(20x10° / 16) / 1000 / 2 = 625
HDUNT.h  CPU FREQUENCY

TORON

BCGF

TAU

93

0x8000

! 2



(4)
TN
TAOL & “(1 << n);
TAL & (1 < n);
TEN =1,
TOL.n = 1;
1

TARON
TMRON
TGQROn O

(5)
TTOL. n = 1,

TEn = 0;
TAL & (1 < n);

3.6.3

94

3.2.2 (6)

TORON
PRO1
TN

PR00 TARON

D, B 3.2.2 (6)

3 6B

=TDOROn + 1

at oi

stdlib.h

BEEP tiner_start

BEP. c

3.6.2 (1) (4)



BEEP_ti ner_stop

BEEP. c
3.6.2 (5

/* 3 6B */
# ncl ude <stdi o. h>

# ncl ude <stdlib. h> [* atoi

# ncl ude "BEP. h"

int main(void) {
char |ine[33];

int i;

whil e(1) {
while (gets(line) = NULL);
i =atoi(line);
if (i) BEEP tiner_start(i - 1);
else BEEP tiner_stop();
}

return O;

*/

/*
/*
/*

*/
*/
*/
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( )
600

1200

300

0




3.6.4
12 (12 ) 440H
m
[ H]
3 6A 1 m
m m
0 6 #
1 # 7
2 8
3 9 #
4 # 10
5 11 #
m=-48 +39
2
12 1 2
3 6B 1.25M¢ 20MHz/ 16 440/ 32 [ Hz]
440 He 32
TCRON -
3 6B 1. 25M¥ 13. 75H 1
45455 # 32141
# 42903 30337
40495 28635
38223 # 27027
# 36077 25511
34052 # 24079
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3.6.5
(1)

(2)
0.01

voi d BEEP_check(voi d);

(3)

{ n&EIl(

char

{ nH

{ nBH

{ e

{ FINSH}

BEEP_qui et

BEP. c
3.6.1

3 6C
o)}
} O RE

{

)}
ID ) }
ID ) }

BEEP pl ay

BEEP st op
BEEP_O\PU h
T4
BEEP_ ONPU h
}
4 0.01

{ nRELAY }

ID=0 3

4
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/*

3 6C */

#i ncl ude <stdio. h>
#i ncl ude "BEP. h"
#i ncl ude "BEEP O\NPU h"

const ONPU nel ody[] = {

/%
/*00*/
/*02*/
/*05*/
/*08*/
/*11*/
[ *14%]
[*17*/
1

: */
{nSET(0, 1) }, {nSEN(1, 1)}, 1% *
{sQ @}, { LA 8}, { 9, T}, [* %/
{LA B}, { O B}, { nH()}, [l

{sQ B}, { LA B}, {9, B},

{lA T8}, {0 8}, { &AL 17}, /> */
{ LA 141}, { nK(T8)}, { nREXO, 2) }, /> */
{ LA T2T}, { FAINSH 1% %

int main(void) {

char |ine[33];

int tenpo, ichou;

whil e(1) {
while (gets(line) = NULL);
sscanf (line, "%%", & enpo, & chou);
if (!tenpo) break;
BEEP _pl ay(nel ody, O, tenpo, ichou);
}
BEEP_stop();

return O;

6C

120 0




3.7 LD PV

LED P LED

3.7.1

7C

/* 3 7ALBED */
#pragna HALT [* */
#i ncl ude <stdi o. h>
#i ncl ude <tine. h>
#i ncl ude <nat h. h>
#i ncl ude <PV h> [* */
#def i ne ALAK() ¥

((unsigned int) clock() / (A.AXS PER SEC/ 100))
#defi ne PA 3.14

int main(void) {
char |ine[33];
int x, peri =200, center = 50, |evel = 50;
float z, gama = 2.5;

while (1) {
if (gets(line) '= NLL) {
sscanf (11 ne, "9%6%61%61%",
&peri, &enter, &evel, &ama); /*
if (peri = 0) break;
}
z = level * sin(ALAK() %peri * 2 * PA [ peri);
z = pow((center + z) / 100, gamma) * 10000;
if ((x=(int) z) <0) x =0;

PWistart (X); [* */
HALT(); [* */
}
PW/ st op() ; [* */
printf("cl osed¥n");
return O;

*/

3 7A
( )

99

800 40 30 2.5




100

#pragna HALT HALT

HALT
0.01
P
[0.01s ] [% [%
sin + *sin(t)
50 50 0 100%
pow
2.5
0
PAM st art LED P c P
LED 0 100% 100 0 10, 000
0.01 HALT
PV st op LED PV
3.7.2 PW
P %

A
\ 4
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P TAU 2
m
S

(1) TAU 351
(2

TMROmM = 0x0801;

TMROs = 0x0409;

PRO1 0x8000

(3

TOROM = - 1

= /
PR1( 1/ 16 ) 280 H

(20x10° / 16) / 280 = 4464
HDUNT.h  CPU FREQUENCY

TEROmM
TDROs = * (%
0% 0 100%
TDROs 0
(4)
Ts 0
T =1 <5 1
TAOL & "(1 << 53); ‘' H 1
TAQOL | =1 << s; L 1
TAL & (1 < 8); ‘' H 1
TAL =1 << s; L 1

TEs =1,
TOL =1 <<m} 1<s5s; 1



TAROM TOROmM
THs TORDs TADs
0%
PR00 PR01 TAROM TROs
TRs O TQDs
TR O
100%
TAROND
(5)

TIOL j=1<<m} 1<<s; 1

TEs =0

TAL & (1 < 9); 1
1 0,8 SR 3.2.2 (6)

3.7.3 LBD PMc
P c 3.7.1 PV st ar t P st op
PV st ar t
PV 37.2(1H (9
TOROs
280 Hz

PV st op

3.7.2 (5)
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3.8 AD
AD
AD

3.8.1
3 8A Ent er

/* 3 8A */
#i ncl ude <stdio. h>
#i ncl ude " AD h"

int main(void) {
char |ine[33];
int inax =-100, imn = 1000, inew

while (1) {
i new = TEWPERATURE AD r ead( ADch TEVPERATLRE) );
if (inew>inmax) inax = inew
if (inew<imn) imn =inew
printf ("%l , %I, %¥n", inew inax, imn);
whi [ e(gets(line) = NLLL);

103

}
return O;
}
AD h
AD c AD read
A D
10

AD read TEMPERTURE

3 8A

( )

21, 27, 27

28 , 28, 27
unsi gned i nt
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3.82 AD

(1)AD

(2
ACM = Ox1f;
Atef =2.7 5.5V, 5. 2y s(20MH ) 52u s(2Mt )
78KOR

(3
(2 1y s

(4)
ACFC = d; d P20 P15x

ACS = ch; ch P20 0
P151 9

(5)
AOF =0
ACS = 1;
vwhile(!ADF);
= AR
ACS = 0; ADM= 0
5.2u s(20MH )

(6)

ADCEN = 1, AD



3.8.3 ADc
AD read 2
(1) AD read
3.81 AD read 3.8.2 AD
3.7.1 AD HALT
5.2u s +a
(2) TEMPERATURE
AD h
AV ef 0
#def i ne \ref _vol tage 5000.0 /* \Wef [m] */
#def i ne (oef _degr ee 10.0 /* [y ] */
#def i ne Base_vol t age 600.0 /* 0 [m] */

* Wref _voltage / 1024 | 64;
1024 A/D 10bit
64 AD 6
- Base voltage) / Qoef_degree;

105

3.8.2
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3.9 RTC
78KOR RTC
RTC
3 %A
3.9.1 ( )
3 9A 2010
5 27 ()
tine h 59 48
youbi
timet C >>2010 8 22 0 22
4 15
0 12 2010
struct tm C “ " 8 22 ()
22 4 15
tmyear 1900 0
tmnon 1 0 t mwday 0
tmnday 1 31 tmhour 0O 23 tmmn 0 59 tmsec 0 59
tine C
NLLL
0 ,12
localtime C
RTC
printf 0x18, 0x01, 0x01
Ent er Ent er
HALT 3.7.1
7
4
settine RIC C
0 BEF BEF
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s 3-9A */

#pragna HALT

#i ncl ude <stdio. h>

#i ncl ude <tine. h> s
const char youbi [J[3] =¢( ™ ", " ", " ", " ", o "v,vor,nmomYs [F

int main(void) {

char |ine[33];

tine t tiner; [* */

struct tm*cal endar, tset; [* */

vhile (1) {
tiner = tine(NLL); /*
calendar = localtine(&iner); /*

print f("¥x18¥x01¥x01 % ¥n""%d %d (%s)¥n""%d 9%d 9%d ¥n",

cal endar->t myear + 1900, cal endar->tmnon + 1,
cal endar - >t m nday, youbi [ cal endar - >t mwday] ,
cal endar - >t mhour, cal endar->tmmn, cal endar->t msec);

ling[O] = 1,
while (tiner = tine(NLL) & gets(line) = NULL) HALT(); /*
if (line[0] = %0) {
print f (" ¥n¥n¥n¥n¥x18¥x01¥x01>>");
whi l e(gets(line) = NULL); /*
if (sscanf(line, "%%61%96961961%", & set.tmyear,
& set.tmnon, & set.tmnday, & set.tmwday,
&set.tmhour, &set.tmmn, &set.tmsec) = 7) {
tset.tmyear -= 1900;
tset.tmnon--;
settine(& set); /*

}

return O;

*/

*/

*/
*/

*/

*/

*/
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3.9.2 RIC
()RTC
32. 768kHz
1
78KOR ave
HDWN T. ¢
3 9A 13 ” 1
13 ” 2
RTCEN = 1,
RTCD = §; 24
78KOR
= (BD 0x00 0x59)
MN = (BD 0x00 0x59)
= (BD 0x00 0x23)
= (BD 0x00 0Ox086, 0)
DAY = (BD 0x01 0x31)
MONTH = (BD 0x01 0x12)
= (BD 0x00 0x99)
RICE = 1;
(2
RWT =1,
vhile (! RI);
SEC YEAR
RMWT=0;

vhi l e (R/ET);
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(3)

RICE=0 SC YEAR RIGE=1
1
RWT=1;
vhile (! RI);
SEC YEAR
RWT =0
vhi l e (R/ET);
(4)
25 +10ppm +27
2 - 0. Od4ppm
78KOR S.BAD
1
int x; /* */
if (SEC = 0x50) { /* 00, 20, 40 */
x = TEMPERATUREH AD read( Ach_TEWERATLRE) ) - 25;
x =25 * 100 - 4 * x * x; [* 4 100  */
X = - [ 102; /* 1.02 ppm 100 */
if ( > 0) ++;
if ( < -62) = -62;
if ( > 62) = 62
SUBAD = 0x80 + ( & OX7f);
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3.9.3

(1)
78KOR RIC

WALE = 1;
WALIE = 1,

Ox7f
(1 << )

RTAK = 0; RIC

WG 1
RIC WAFG

(2
3 9B 78KOR
Ent er

99
Ent er 2

[* 3-9B */

#pragma SFR

#pragna HALT

# ncl ude <stdio. h>

# nclude <tine. h>

# ncl ude "BEEP. h"

# ncl ude "BEEP. i nc"

const char youbi [][3] ={ ™ ", " ™, " ", " ", " ", " " " "1}
#define B x) ( (unsigned char) (((x) / 10 << 4) + (X) %10) )
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int main(void) {
char |ine[33];
tine t tiner;
struct tm*cal endar, tset;

WALE = 1;
vwhile (1) {
if (WG {
BEEP_pl ay(whi stl e _pol ka, 0, 85, 0);
WAFG = 0;
}
tiner = tinme(NLL);
calendar = localtine(&iner);
printf("¥x18¥x01¥x01 % ¥n""%d 9%d (%s)¥n""%d %d
cal endar->t myear + 1900, cal endar->tmnon + 1,
cal endar - >t m nday, youbi [ cal endar - >t mwday] ,
cal endar->t mhour, cal endar->mmn, cal endar->t msec);

if (ALARMW= 0) printf(" ¥n");
el se printf(" o2x: 9ax¥n", ALARMM ALARMNY) ;
ling[O] = 1,

while (tiner = tine(NULL) & gets(line) = NULL) HALT();
if (line[O] = "¥0') {
tset.tmyear = 999;
BEEP _stop() ;
print f (" ¥n¥n¥n¥n¥x18¥x01¥x01>>");
whi l e(gets(line) = NULL);
if (sscanf(line "%%61%96%61961%", & set.tmyear,
&set.tmnon, &set.tmnuay, & set.tmwday,
&set.tmhour, &set.tmmn, &set.tmsec) = 7) {
tset.tmyear -= 1900;
tset.tmnon--;
settinme(&set);
}
else if (tset.tmyear = 99) ALARMWV= 0;
else if (tset.tmyear >= 0 & tset.tmyear <= 23 &
tset.tmnmon >= 0 & tset.tmnon <= 59 ) {
ALARMM = BO(tset.tmyear);
ALARMW = BOX(t set . t mnon) ;
ALARMW = Ox7f;

}
}

return O;

%2d

¥nu ,




3.9.4 RIC RICc
RTC 391 tine
RTC open
(Dtine | ocal ti ne
C
78KOR RIC
QC78KOR
32
tine
| ocal ti ne
78KOR
RTC local tine
tine
(2)settine
RL. 20
(3) RIC open
RIC h
- 8ppm
P12 32. 768kHz

+ 1ppm

| ocal tine

112

settine
RTC h

32

16

3.9.2 (1)

+10ppm

- RTCHEXK

0.1H



3.10 a UART
a
3.10.1
U8 a
(1) a
OD18

0Dr8

(2
¥n LF
Tera Term

Tera TermPro

us8

ac

W ndows

113

Tera Term 10

Ent er
KEYBOARD. O\NF - Nunient er =284

Tera Term/ Pro
19200bps (setup) - N
8 (serial
1 port)
LF (setup) - N
JIS (termnal) -
VT100J
Ent er
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3.10.2
3 10A LD
/* 3 10A */ 3 10A
# ncl ude <stdi o. h> ( )
# ncl ude <string. h> IEi
a1 203 Term — COM4 T
it ) File Edit Setup Control
int nai n(voi —
1 15 B G

char tnp[ 100];
F LE *fpr, *fpw

fpw = fopen("GM", "wb");
fpr = fopen("GM", "rb");
if (fpr = NLL |} fpw= NLL) {

printf("error¥n”);

return O;
}
fput s(" ¥r¥n', fpw;
while (1) {
vwhile (fgets(tnp, sizeof(tnp), fpr)
= NLL);
printf("9%", tnp);
fputs(tnp, fpw;
if (!'strenp(tnp, "end¥r¥n")) break;
}
fput s(" ¥r¥n', fpw;

if (fclose(fpr) = EF) printf("error¥n");
if (fclose(fpwy = EF) printf("error¥n");
printf("cl osed¥n");

return O;

/*

/*

tezt mezzagze |
tegt messasze

*/| [lend
end
EIEHT
( )
/ test nessage
end
*/
cl osed
*/
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f open
1 UART
2
Wh” ’rb”
fputs
1
2
0 BEF
LAD put s ¥n
fputs
1 fputc 1 1
fgets ¥n
2 +1 si zeof
3
1 NLLL
gets ¥n fgets
¥n gets ¥0
fgets 1 ¥n
1
1 getc
BECGF
fcl ose
1
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3.10.3 UWART
(1
78KOR SAU
3 UART 12C
SAU 78KOR KC3- L
KE3- L SALD 3.2.2 (6)
SALD 4 3
1°C 2 UART
3 10A
78KOR KC3-L KE3-L 2 3 UARTL WM
2 3 DoT8
0 1
SAU
SALDEN = 1; SALD
NT() , NOX() . NOX() , NOX() ; 4 NCP
#pragna NCP

SO = PROL << 4 | PRIO;

2
PRO1 PR30 (62V)

0:1/1 1112 2214 3:1/8 4116 51/32 11: 1/ 2048

78KOR KCG3-L KB3-L PRO0 UART1
3 10A SAD 7T8KOR KCG3-L KE3-L

3 UART 12C

0 C3 00 UARTO

1 C3 01

2 C310 UART1 [1Cl0

3




(2)

(3)

SO = PO &0xFO |} m- 1,

SVR0s = 0x0023;
SR0s = 0x8097;
SROs = ( - 1) <9

A0 =7(1 < 3);
S = 0x0808 | 1 << s;

L. s = 1,

TxDn 1
SOL.s =1,

SWR0s & 71,

whi | e( SSR0s & 0x40);
STOL. s = 1,

SHOL.s = 0;

SO = PO &0xFO |} m- 1,

SWROs = 0x0023;
SWROr = 0x0122;
SHOr = 0x4497,
TRr = ( - 1) <9

NEND. (1 <<2*n) =1
SOL.r =1;

SIOL.r = Q;
NEND. (1 << 2 * n) =0

s UART

128
0<m< 13

PRO1
PRO1

I NTSTn

TXDn

PRO1

PRO1

0x8000

0x8000

I NTSRh

SO =m- 1;
n
SO =m- 1;

117
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(4)

UART RTS,

ClIs 2

RTS

CTS

RTS, CIS RIS CIS
UART
(DD]:] RIS CIS 1

120
Xon Xoff

Xof 0x13 Xon ox11



3.10.4 WART UART. c
(1
0.01
voi d UART_TX check(voi d);
voi d UART_RX check(voi d);

3.10.2
2
f open fcl ose
driver list.h
UART
UART. h

extern H LE *UART_TX open(voi d);
extern H LE *UART_RX open(voi d);
extern int UART_TX cl ose(voi d);
extern int UART_RX cl ose(voi d);

(2)

UART. h
#def i ne UART_SPEED 19200
UART. h UART

UART_set _baud();

(3)
127
fputs

put c BEQF

IRh

f open
/* UART
/* UART
/* UART
/* UART

fcl ose
*/
*/
*/
*/

119



3.11
3.11.1

3 11A
/* 3 11A ( ) *

#i ncl ude <stdi o. h>
# ncl ude <string. h>
#i ncl ude <tine. h>
#def i ne ALAK() ¥

i nt

((int) clock() / (QLOKS PER SEC/ 100))

nai n(voi d) {
int i, c, t;
char tnp[ 100];
F LE *fpr, *fpw

fpr = fopen("IR", "rb"); [* */
fpw= fopen("IR", "wb");
if (fpr = NLL |} fpw = NLL) {
printf("error¥n”);
return O;

}

fput s(" ¥n", fpw; [* */
vhile (1) {

i =0

t = aaX();

vwhile (AAK() -t <200 & i < sizeof tnp - 1) {

if ( (c =getc(fpr)) !'=EF [* */
tnp[i ++] = (char) c;
if (c ="¥n") break;
i
tnp[i] ="¥0';
printf("Rec:9%", tnp);

while (gets(tnp) = NLLL);
if (!strenp(tnp, "€")) break;
strcat(tnp, "¥n");
fputs(tnp, fpw;

}

if (fclose(fpr) = EF) printf("error¥n"); /[* */
if (fclose(fpwy = EF) printf("error¥n");
printf("cl osed¥n");

return O;

(

11A

120

Rec:

t est

Rec: test
e

cl osed




f open

”I R »

”V\b” ”r b”

fputs

LAD put s
fputs
1 fputc

getc 1

UART fgets

¥n
getc 1

fcl ose
1

¥n

¥n

121

foets
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3.11.2
IRc
1 0.6ns T 38kHz 0
1 24 1
111101010110100110011001
— 8 Oxac
2 LB
0 01
T 10
0. 6ns
0-1
0.6 x 5=3.0n% 111101
0-1-0 0.6 Xx 4 =24 011001
0-1-1 0.6 x 3=18n 011010
1-0 0.6 x 3=18n 1001
1-1 0.6 x2=12n% 1010
0-0 0.6 x2=12n% 0101
+ 0. 3ns
3.0n3 0
2. 4n3 0 1,0 2 1
0
1. 83 0 1, 1 2 1 0

1. 2ns 0 0, 1 1
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3.11.3
TAU 1
n

(1) TAU 351
(2

NENL. n = 1,
(3

TMRONn = 0x0104; PR00,

PRO1 0x8000
, 0x0040, 0x0080

(4

TOL.n = 1;

TMMON = O;

TGN O
TMRON PR00 PRO1 TGN +1
TARON TCRON
TORON

(5

TMMON = 1;

TTOL.n = 1;

NENL. n = O;



3.11.4 IRc
(1)
0.01
voi d | R_TX check(vai d);
voi d | R RX check(vai d);
3.11.1
fopen fcl ose

driver list.h

IR
IRh
extern HLE *I R TX open(void);
extern int 1R TX close(void);
extern HLE *I R RX open(void);
extern int 1R RX close(void);
(2
31
fputs
put ¢
1 15ns
(3) 38kHz

33%

124

2
UART
UART. h
f open fcl ose
/* */
/* */
/* */
/* */
32 480ns
50%



